
Solucións fichas 3º EP xoves 14-5 

Complete the words. 

2 It’s the little goat.    3 It’s the big goat.    4 It’s the very big goat.    5 It’s the river.     

6 It’s the bridge.    7 It’s the grass.  

 

Write the words. Match the pictures with the sentences.  

2 a   The bad troll comes down.    3 b   The very big goat goes over the bridge. 

 

Circle the correct words. Then complete the sentences. 

2 back   3 Goodbye   4 grass   5 happy  

 

Answer the questions. 

2 No, he isn’t. 

3 Yes, he is. 

4 No, he doesn’t. 

5 No, they aren’t. They are happy. 


